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- : : | Please check that this question
CLASS (h&fl) : VIII |paper contains 31 questions

SOCIAL SCIENCE |and 10 printed pages.
CICIEERERIED F7 S w39 AT

(Summative Assessment - I) 31 7R T 10 B9 EL TS il

(HhaHIcHeh qedishd - 1)

Time Allowed : 3 Hours Maximum Marks : 90
fuifed a9 ;3 = Afeham 3% : 90

General Instructions :

3
! . Marks for each question are indicated agamst it.
3.
4.

There are 31 questions in all.

All questions are compulsory.
Write the same question number as given in the question paper while answering a

- question in your answer book. -

5.

6.

L

2
3.
4
)

L

(i) Answer to MCQs of 1 mark each should be out of (a), (b), (c) or (d) only.
(ii) Answer to each question of 3 marks should not exceed 60 words.

(iif) Answer to each question of 5 marks should not exceed 100 words.

Both the Maps should be attached inside the answer book.

\mﬁ%fw

\ mmw@wnm%n

.WW@WWW@@%

gsft weA e #)

. I IR Yt ¥ S e e yea-ua ® R mn yeeie & faw

. (i) 1 ¥k F Tg-kicuH YA H W (a), (b), (c) e (d) ¥ @ & e =Ry

(i) 3 3 F TAH YT H IW 60 TR ¥ 3ifesh T 21 =1
(iii) 5 W@WW%WIOOW@&FMW?@TWI

A AT B A IW YRR & HR) Ferd it

Choose the country amongst the following which has got -the highest

percentage of cultivated land. : . ; 1

(a) Japan | ‘ (b) UK

(c) India (d) Australia
ﬁﬁwﬁﬁqﬁqwﬁaﬁwqﬁqwmm

afe 2

(@) ST (b) TS

(c) Wd . (@) r=fen
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2. Hoover valley project is located in which one of the following countries?

(@) Egypt : (b) India -
(c) China Ad) USA
‘g = wiEs’ ffafea § e dw o feom @2
(a) foea - (b)) WRa
(c) » (d) e
- 3. Which 'Wildlife conservation project' was launched in 1973?
(@) Project Rhino. \,(b) Project Tiger
(c) Project Elephant ‘ (d) Project Nilgai
1973 ® S W ‘T ST W W’ 1 fRa e
(a) WPRR TE (b)) YRR W
(c) Wistae weft (d) WS Hi| =
4. Which one of the following forests is common in Zaire and Amazon Basin?
(a)— Evergreen Forest 5o : (b) Tropical Decidious
(c) Medetterean Forest ' (d) Confierous Forest

frefafea o= & @ &9 @ o =R (Zaire) 3R s = (Amajon Basin)ff :
M S §?

(a) ¥ Bh@ T ' (b) S Tufardt o
(c) §-9eF WITE o (d) e =
5. In which lahguage was Bal Gangadhar Tilak's newspaper 'Kesari' published?
(ay Hindi '  (b) English
(c) Urdu A o Q(d) Marathi
a1 TR fooes 1 9eR U9 eed’ R am | suar e
(a) fe=d (b) 3T '
() =3 . (d) =
6. In which one of the following cities is the Gateway of India located?
(a) Kolkatta (b) Ahmedabad
() Mumbai "~ kd) Delhi .
e & o sfean’ frfafen TR A § fbw R A fem @2
(a) RICTeRTT (b) STEHIETR
() T, | (d) fowed
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D Identify the important event which took place in Indian History in 1885.
ol#) Establishment of East India Company
(b Establishment of Indian National Congfess
(c) Establishment of Muslim League
(d) Establishment of Home Rule League
1885 § 9RA & e § U GeF Ul Hi TedH whife
3 gfrean Sl A (b) wmﬁawﬁaa:rﬁaaﬁwm
(c) Hfeem o 1 TIT ) W FA G I T

9 The constitution of which country inspired India to adopt the concept of
Directive Principles of State Policy?
3 Ireland (b) . Britain
() USA (d) Canada
m%ﬂaﬁuﬁ‘mﬁwaﬁ o & i v fasm s @ fa
EIECRCEI P

@ IS ) fes
() ¥ T R (d) el
9. Choose one subject amongst the following is included in the state
list: :
(a) IT & Software : (b) Post & telegraph
(c) War & Peace : \_Jg) Public health & sanitation

ﬁmﬁf@ﬁﬁﬂﬁ@m@ﬁmaﬁwxﬁﬁﬁﬂﬁnﬁﬁﬁmw%f
(a) AT R IR MRS (b) Wk 3R TR

© IS R wf< (d) S e iR el
{0. Parliament can remove the President of India by a procedure called :
(a) NO Confidence Motion - (b) Amendment
\}Q Impeachment (d) Adjournment

Hoe gR R % Uu U ¥ gem i wiwar ® frAfitated § § =
wed 82 |

(a) STEEE TR () wE

(@ wEREmoo. - (d) TEEEE

VIll-SOCIAL SCIENCE




11. Explain any three measures that can be adopted to conserve energy resources. 3

Wwaﬁ%m&wéﬁmwmaﬁﬁmﬁ?ﬂqmaﬁw
RIS

12. Highlight any three factors that affect the soil formation.

a1 feior =t guifaq w9 9 T%rﬁ’?ﬁqmaﬁﬁmaﬂﬁql

13. Suggest any three measures-to be taken by the government to protect the
forests. : A
oAl 1 & % U SRR g ST SH A g i U gEngd |

14. Name any two regions in the world where the monsoon forests are

commonly found. Write any two differences between the Monsoon forests

and the Evergreen forests.
ﬁw?@ﬁﬁ&wﬁmmwmwmﬁwﬂw
w1 Bfa w1 A B I R ety

@ 'The French dream of establishing an impire in India eneded with the Third

Carnatic war'. Explain any two causes of it.

mmﬁﬁmaﬁmmwﬁwwﬁawm
O 22 T s Rl <1 sl w5 sren i

16.“ How did the Britishers systematically destroy Indian crafts & industries?

Explain. ,
S 7 fFE YRR g forew ok S W fafued T fEEn? @

FHifera|

@ "The Revolt of 1857 was unprecedented" justify the statement.
“1857 = fosie e1qayd en” weM # WEl fag wifsm

18. Why is the Preamble of the constitution of Indla regarded as the soul of

the constitution? Explain. ' ‘
W?Hﬁaﬁaﬁwﬁﬂﬁaﬁaﬁmaﬁwm%w

- it
195/ _jExplain any three features of a parliamentary form of Government. : 3x
HYET &R & Fig diF fagiae s sifsu)
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Wthh sub]ects are called the re31duary sub]ed}s? Who is responsﬁ)le By law
making laws on these subjects? €zadr- PQ}MLOL‘TW"\‘Y' ound (o 2+1=3
Wm@mmmm%7gﬁwmwmém# +O

forier 82

State any three differences between Lok Sabha and Rajya Sabha. 3x1=3
AF T SR T W ® W= d =R fafen)

Why is USA termed as a developed country? Examine the role of Human

. Resource in the development of a country. 1+4=5

-WWW@WW@WW%7W@$W13

HME HEEA i et 1 waor i)

Define Land use pattern? Why does the land use pattern vary from country to
country? According to the land use pattern what percentage of land should be

under the forest cover and why? : 1+2+2=5 .

iﬁwgﬁmﬁqﬁmﬁﬁaﬂﬁqlwwwi‘ﬂﬁwww
eI 22 qf S ufawy & SIER qfF w1 fwam wfwa W S W G
e =ifew 3R i gt e wifew?

OR

What is 'Soil Erosion'? State two causes of Soil Erosion. Explain the role Qf

change in agricultural methods to check Soil Erosion.
wwwé7wwﬁﬁéﬁwm|wmﬁﬂﬁ
& fou iy aesl ¥ aRada &1 it T i

"Dual Government of Bengal gave immense power to the British, but brought
misery to the people of Bengal". Analyse the statement. 5
“STIE F BU TR Y ST 1 oTaTaE WiE WS H W ST % Arn

% fau qeftad U1 1" 39w w1 favemm i)

Who were the 'Tribals'? Name the tribal groups of Punjab and Chottanagpur.
Explain the impact of the British policies on the lives of the tribals. 2+1+2=5
IS @ S 92 T SR Sl AR % SHed wel @ AW fafe

s Al & S wEl & Sfe W gy g9 e wive
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26.

27.

28.

29,

30.

The Revolt of 1857 was the outcome of wide spread resentment. Examine the

military and immediate causes of the Revolt. - 3

1857 &1 fosie =AM9sh &= =1 9RUMH o1 39 foRie & df s @ dortas
SO I G wifew)

OR ( 319@T)

Why was the Revolt of 1857 not successful? Highlight any five reasons.

1857 1 fosie =1 9% & g3N? HIE W™ HRU IR IS

Explain any five sailent features of the Indian Constitution. _
A Hiawe w1 feel oie ARyl favmmst # =men Hifsu)
Analyze the working of secularism in India with suitable examples.

IRd § gHfRaea st FEAYUTet w1 SUFE Sael % Wy faveyur sy

Explain any five powers of the Indian Parliament.

ARAA §O% Ht fh=l 9= wfeal i T s
OR(3gar)

Explain any five powers and functions of the Vice-President of India.

W%W—Wﬁﬁﬁﬁﬁﬁ&%'mﬁwaﬁml

(i) Two features A and B are shown in the given political map of India.
Identify these features with the help of the information given below and
write their names on the lines marked on the map ' _

(A) The place where the sepoys revolted on 10th May 1857.
(B) The place from where Tantya Tope led the Revolt of 1857.

(ii) On the same political map of India locate and label the following place :

‘ (C) Odisha : The present state of India to which Khonds belonged. 1x

() 9Rd % fRU T @ qHAfTT W R AGT A qo1 B <@NE T F| AT AW

: 'fmﬁwuﬂmﬁamaﬁwﬁqammuﬁﬂmmﬁaﬁ

i+ ¢ e w fafa
(A) 9% TJF @l 10 T 1857 T faafeai 3 fage fean o
(B) 9% TM Wei ¥ dien 2 3 fagie & Aqa & o
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(i) ﬁ’lmwﬁmﬁamﬁmﬁr@aaﬁwaﬁ?mmﬁfﬂf@@
(C) 3fee - 9Rd 1 SdAE T ol @ie oWy W 9

For visually impaired students only in lieu of Q. No. 30

VH. 30% T W ha gfe afuq farntdei & fog defoas ww

30.1. Who was the leader of the sepoy mutiny in Kanpur.

30.2.Name the Mughal Emperor in Delhi at the time of the Revolt of 1857.

30.3 Name the tribal group of Kulu. ‘ : - 1x3=3
30.1 FER H ATk fagie &1 Aar e o

3021857 % fose & T feeh § et W @ AW fotfen)

30.3 Toq] o SHSAE 998 &1 719 fafem)

3. (i} Two featurés (A) aﬁd (B) are marked on the given political map of the
world Identify these features with the help of following information
and write their correct names on tﬁe lines marked on the map :

(A) Aregion of low rainfall in Africa 7
(B) A type of forests »
(ii) On the same outline map- of the world locate and label the items with
approprlate symbols. | |
(©) One region with hlgh rainfall in North America
.(D) One region of Mediterranean forests in Australia. 1x4=4
() HER & WFfaw Y@ gEfas W a @am ok fafed feg meod AR @
ﬁméwwmmﬂﬁaﬁ@%ﬁ%@aﬁmmHﬁw
fafem|
(A) 3T | %1 atn‘ e &
(B) ol T Th FER
(ii) ﬁquaﬁwﬁmuﬁﬁamﬁmﬁfﬁaﬁﬁmﬁﬁﬁ
5N T R 39 AW +f fafem |
(C) T iR § s aui aen T &
- (D) w@%{mﬁéﬁwwﬁaaﬁwww
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For visually impaired students only in lieu of Q. No. 31 :
TH. 31% WM W Haw gie arfia faenfdat & fm defoas wo

31.1. Which region of Australia gets low rainfall?

31.2. Name one region of Tropical Evergreen Forest in South America,
31.3. Which animal is commonly found in the temperate softwood forest?

31.4.Name any one region of high rainfall in Africa.

311 TR & 1 @ &89 § %1 owl Bt 27

31.2. 301 sl # w1 BRa o ® T &% w1 A fafen

31.3. 3 sfcaefa o= o i o1 93] SHEEEE: @ S S

31.4. 3711 § afees i 9T HE oI fRd T &9 %1 A fafe
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ol No. ( 3TIHHIR) . India-Political & GRS EIRED)
“IMap for Question No. 30 (%.4. 30 % ferq Hmfer) :
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. Dear Teacher,
Please refer to the following note :

Question No. 7 was out of syllabus hence it’s 1 mark is allotted to question number 10 and
therefore question 10 is of 2 marks.

Q. No. 11 was changed at the time of examination and the correction was modified as ‘Explain
any three measures that can be adopted to conserve natural resources.

It may be noted that if a child has attempted the question as given in the question paper then also
the mark should be allotted if the answer is correct.

Internal choice of question no. 29 was moderated and correction uploaded during the
examination at the DAVCMC website. However, if the child has attempted the question given in
the question paper reasonable marks should be allotted to the child based on the answer
provided. This is done, as it is possible that the correction uploaded at the DAVCMC website
may not be communicated at the time of examination to the students concerned.

B~




